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Information for the Examinees:

This examination consists of THREE parts. They are:

   Part Ⅰ: Reading Comprehension  (50 points, 60 minutes)

   Part Ⅱ: Vocabulary and Structure (30 points, 30 minutes)

   Part Ⅲ: Writing (20 points, 30 minutes)

The total score for this examination is 100. The time allowed for this examination is 2 hours (120 minutes).
 Part Ⅰ: Reading Comprehension              (50 points)                                  

Instructions:

· This part will take 60 minutes.
· There are FIVE sections in this part.
Mark ALL your answers by blackening the corresponding letter on the Answer Sheet, e.g.[ A ].
Section A  Questions 1- 5 are based on this section. (10 points)
Directions: Read the following passage and choose the best answer from A, B, C and D. Blacken the corresponding letter on the Answer Sheet.
An owl is a bird. There are two basic types of owls: typical owls and barn owls. Owls live in almost every country of the world. 
Owls are mostly nocturnal, meaning they are awake at night. Owls are predators- they hunt the food that they eat. Owls hunt for mice and other small mammals, insects, and even fish. Owls are well adapted for hunting. Their soft, light feathers make their flight nearly silent. They have very good hearing, which helps them to hunt well in the darkness. The sharp, hooked, and pointed mouth and claws of the owl make it very easy to tear apart small animals quickly, although owls also eat some animal whole. 
Owl eyes are unusual. Like most predators, both of the owl’s eyes face front. The owl cannot move its eyes. Owls are far-sighted, which means they can see very well far away… but they can’t see up close very well at all. Fortunately, their distant vision is what they use for hunting, and they can see far away even in low light. Owls have facial disks around their eyes, bunches of feathers in a circle around each eye. These facial disks are thought to help with the owl’s hearing. 

Owls can turn their heads 180 degrees. This makes it look like they might be able to turn their heads all the way around, but 180 degrees is all the owl needs to see what’s going on all around him. 
Perhaps because of the owl’s mysterious appearance, especially its round eyes and flexible neck, there are a lot of myths and superstitions about owls. Many cultures believe that owls are unusually wise. Because owls are nocturnal, some cultures link owls with bad signs. The scream of the barn owl is considered by many to sound strangely like a person screaming. However, owls probably do not interact with the fates of humans at all. In fact, some owl groups may die out because of humans. 

1. Which of the following is NOT a reason for owls’ skill to hunt?  

A. Their flight is almost silent. 

B. Their mouth and claw are special.  

C. They are awake at night.   

D. They have good hearing.   

2. Owl eyes are useful for hunting because _____.   

A. they face front 

B. they see far away very well in low light 

C. they are circled by facial disks  

D. they don’t move  

3. Owl head is a good factor for hunting because _____.   

A. owls can turn their heads all the way around 

B. owls can move their head and see a range of 180 degrees 

C. the appearance of owl head is mysterious 

D. owl’s flexible neck helps with moving their head freely  

4. Which of the following is the closest in meaning with “superstition” in Line 2 of the last paragraph? 

A. Unreasonable belief.   

B. Bad sign.  

C. Mysterious look.  

D. Unusual wisdom.   

5. It can be inferred from the passage that _____.   

A. different cultures see owls differently  

B. owls are mysterious to human beings  

C. owls scream strangely like a person 

D. human beings are a threat to owls 

Section B  Questions 6-10 are based on this section. (10 points)
Directions: Read the following passage and choose the best answer from A, B, C and D. Blacken the corresponding letter on the Answer Sheet.
A newspaper is a publication that is issued daily or weekly and includes local and international news stories, advertisements, announcements, opinions, cartoons, sports news and television listings. It is a very important method of letting the public know everything that is happening in their local area and around the world. Even with the advancements in computer technology, newspapers continue to be an important aspect of everyday life.

It is very important to know the sections of the newspaper and what information each one contains. The front page has the most important stories of the day. Each story has its own "headline" and a "by-line" giving the name of the reporter who wrote the story. Every newspaper story has to answer the following questions:

5Ws    Who? - who is the story about?

What? - what is the story about?

Where? - where does the story take place?

When? - when does the story take place?

Why? - why is this happening? (This is not always possible to answer)

H      How? - how this story happened.

Although every news story cannot fit into a formula, there is a certain structure that is fairly common of all news stories.

1、The first paragraph gives the answers to the most important of the 5 W's and H. The second paragraph tells the rest of the 5 W's if they were not included in the lead.

2、The rest of the paragraphs elaborates on the information given in the opening and gives more information and details.

3、Background information is included if it is giving new information to a story that had been printed previously in the newspaper. Sometimes it gives information which is necessary to understand the story.

4、A quotation or a statement about the news story is often included in order to explain the importance of the story.

5、Details are provided about the story and are organized into paragraphs. Each paragraph provides one aspect of the story and the details are arranged in order of importance.

6、Why are newspapers still important to people? 
A. Because they are issued daily or weekly. 
B. Because they tell people everything in the world. 
C. Because computer technology develops quickly. 
D. Because they include local and international news stories. 

7、By answering “5Ws” and “H”, the reporter tells the reader _____.
A. the details of a news story
B. the method of writing a news story
C. the way to organize a news story
D. the different sections of a news story 

8、Which of the following section may add to the importance of the story?
A. The background information.
B. The first paragraph. 

C. The second paragraph

D. The quotation or the statement.
9、The underlined word “elaborates” most probably means _____. 
A. “arranges details in a good order” 
B. “explains the importance of a story” 
C. “gives more information and details” 
D. “provides previously printed information” 

10、This passage is mainly concerned about _____.
A. the information of news stories

B. the organization of news stories 

C. the importance of newspapers 
D. both A and B 

Section C  Questions 11-15 are based on this section. (10 points)

Directions: In this section, there is one passage followed by a total of five pieces of information marked 1, 2, 3, 4 and 5 in Column A. Match them with their correspondent parts marked A, B, C, D and E in Column B. Skim or scan the text as required and then blacken your answers on your answer sheet.
There are lots of bison or buffalo in Yellowstone National Park. When the winter weather is bad, bison have a hard time finding grazing land. They leave Yellowstone in search of food. Bison wander into the forests of southern Montana.
The state of Montana does not want bison to leave the park. Stray bison can infect nearby cattle and make them sick. Brucellosis is the sickness, and it causes pregnant cattle to lose their babies. In the past thirty years, Montana has spent thirty-four million trying to get rid of brucellosis. 
Using snowmobiles and helicopters, Montana officials chase the bison back into the park. If the bison won’t go, then they are shot and killed. In 1996, thousands of bison couldn’t find food and left the park to find some. More than a thousand bison were killed. Since 1997, more than 4,000 bison have been hazed back to Yellowstone and only 317 bison have been shot.
Volunteers ski into the snowy areas to find wandering bison. The volunteers use two-way radios to stay in touch with each other. They want to get the bison back into Yellowstone so they won’t be hazed or killed. Volunteers race to find the bison. 
Finding stray bison is costly to taxpayers. Huge herds of bison are in Yellowstone now, and there are at least one thousand too many. If more of the wild bison get loose, they will be killed. Montana cattle are a billion-dollar industry. Cattlemen and state officials will protect the cattle even if the bison are endangered.
	
	A
	
	B

	11.
	a disease that infects cattle and causes pregnant cattle to lose their babies
	
	A. stray bison 

	12.
	vehicles that are used to haze bison back to the national park 
	
	B. Montana cattle

	13.
	buffalo that leave their home and go to other places to find food 
	
	C. volunteers 

	14.


	people who try to find wandering bison and get them back to the park so as not to be killed
	
	D. brucellosis


	15.
	state officials will protect them if they are in danger 
	
	E. snowmobiles        


Section D  Questions 16 - 20 are based on this section. (10 points)
Directions: Read the following passage and choose the best answer from A, B, C and D. Blacken the corresponding letter on the Answer Sheet.
GOLD FOUND IN CALIFORNIA
Every morning, James Marshall, who lived and built saw mills in California, walked along the millrace (the canal in which water goes to a mill wheel) and studied the wheel of the saw mill. He wanted to be able to tell the mill’s owner, John Sutter, when the water in the race was deep and swift enough to turn the mill’s wheel. 

On the morning of January 24, 1848, Marshall noticed something unusual in one of the deep pools along the bank. Under the clear water lay a yellow rock: a gold-colored piece of ‘rock’. He reached into the cold water and snatched up the strange ‘rock’. Then he stood by the bank, deciding what his next step should be. 

Was it really gold? James Marshall knew several tests for gold, but only one such test could be conducted there by the riverbank. Marshall decided to do this one simple test. He laid the stone on a smooth rock, and then he picked up another rock that he felt would make a good hammer. He hammered at the gold-colored ‘rock’. He noticed that it did not break, but it had changed shape. He put the ‘rock’ in his pocket and took it to the mill. There the mill workers did another test. They placed the ‘rock’ on an anvil and beat it with a hammer. When the ‘rock’ flattened but did not break into small pieces, the mill workers knew that the ‘rock’ was not iron. 

Three more tests were used in order to find out the exact composition of that gold ‘rock’. The mill cook threw it into a kettle, where it was boiled for a day. The long boiling did not change the rock’s color: it remained the color of gold. John Sutter, the mill’s owner, was shown the ‘rock’ on January 28, 1848, five days before his land became part of the United States. 

He performed two different tests on the gold-colored ‘rock’. After the first test, John Sutter observed that nitric acid did not damage the rock’s appearance. Then he placed the ‘rock’ on a scale. Its weight showed that it was much denser than silver.

John Sutter and James Marshall were then sure that they had in their hands a gold piece. They decided to keep the find a secret, and they told the mill workers to keep quiet about the news. 

However, one mill man wrote to his friends about his own efforts at gold mining. A storeowner overheard another mill man talking about a piece of gold he kept in a small bag. 

When a delivery man got a look at a handful of gold dust, shown to him by a small boy at the mill, the arrival of a California Gold Rush was almost unavoidable. Its occurrence was made a certainty with the publication of a San Francisco news headline reading “GOLD MINE FOUND.” Over ninety percent of the people in San Francisco took off in the direction of Sutter’s Mill.
16. What did James Marshall do to test the gold-colored rock he found in one of the deep pools?
A. He hammered at it with another rock. 

B. He beat it with a hammer.

C. He boiled it in kettle.

D. He did a simple test. 

17. Which of the following tests was done by John Sutter? 
A. Finding the weight of the rock. 

B. Testing the rock with nitric acid.

C. Trying to break the rock.

D. Boiling the rock in a kettle. 

18. The gold-colored rock has all of the following features except that it is _____. 

A. denser than silver

B. harder than iron

C. difficult to change its color

D. easy to change its shape 

19. The discovery of gold in California was made known to the public by _____.
A. John Sutter

B. a storeowner

C. a delivery man

D. two mill workers 

20. “California Gold Rush” probably means that _____.
A. “there is a rich gold mine in California”
B. “the finding of gold in California is no longer a secret”
C. “testing gold goes through several steps in California”
D. “a large number of people go to California for gold”
Section E   Questions 21- 25 are based on this section. (10 points)

Directions: Read the following passage and choose the best answer from A, B, C and D. Blacken the corresponding letter on the Answer Sheet.
Hard work over a long period of time brings genuine tiredness, to which body and mind eventually make the natural response of sleep. But long before this point is reached we often suffer from lassitude (疲乏). After a day’s work, for instance, we settle down in an easy chair to watch television. Before long we feel drowsy and nod off to sleep; perhaps we stay in front of the screen all evening, intermittently dozing, until finally we decide that our day’s work was exhausting and we retire to bed early. On another occasion, after a similar day’s work, we may spend the evening playing tennis, or building a needed bookcase, or mapping out a planned addition to the house, or in delightful conversation with charming friends, without any feeling of exhaustion or weariness. Now, on the television evening were we genuinely tired or not? And is such an evening refreshing or exhausting? 

There is a need for much more careful study of the nature of play, rest, and fatigue, and the relationship between them. Cyril Burt carried out an experiment with two matched groups of children who were very backward in arithmetic. One group was given an extra arithmetic lesson every afternoon while the other group slept. At the end of the term the “sleepers” had improved in arithmetic more than those specially coached. Of course, there are many variables that might be causally involved here, but the results should make us question the assumption that “work” is the productive sphere and “play” the unproductive sphere. 

We all need to rest. But in order to understand the kind of rest an organism needs, we must study the nature of the organism. After running to catch a train our lungs are overworked and need to rest. The way in which they rest, however, is by gradually returning to the normal rhythm of breathing, not by stopping. This is because they are built for action. Similarly, everything intended to act, from muscles to mind, can find rest in natural action as well as in inertia (怠惰). “To act in accordance with the hidden law of nature – that is rest,” said Maria Montessori; “and in this special case, since man is meant to be an intelligent creature, the more intelligent his acts are the more he finds rest in them.” Leisure should be regarded not as an opportunity to collapse, but as an opportunity to seek out ways of acting that are suitable to our nature but are not encouraged or permitted by our working conditions.

21. According to the passage, which of the following is NOT a good way of rest? 

A. Playing tennis.  
B. Talking with charming friends.  
C. Building a needed bookcase.  
D. Watching TV.  

22. The experiment carried out by Cyril Burt shows that _____. 

A. both groups of children were very poor in arithmetic   

B. extra lessons were necessary to improve study    

C. good rest might help improve study   

D. “work” is productive whereas “play” is unproductive   

23. The rest that our lungs need after being overworked is to _____.  

A. stop breathing for a while  
B. stop running  
C. breathe normally 
D. gradually reduce breathing rhythm   

24. According to the passage, which of the following can best describe the relationship between “play” and “rest”? 

A. If you play more, you can get more rest. 

B. If you play intelligently, you will get good rest.   

C. If you don’t play at all, you can’t any rest. 
D. If you play slowly, you can get good rest. 
25. It can be inferred from the passage that _____. 

A. people seem to have wrong understanding of what is true rest
B. people should follow the natural law and not work hard 
C. leisure time allows people to play and get good rest 

D. rest means intelligent action rather than sleep 

Part Ⅱ: Vocabulary and Structure             (30 points)                                  

Instructions:

· This part will take 30 minutes.
· There are TWO sections in this part.
Mark ALL your answers by blackening the corresponding letter on the Answer Sheet, e.g. [ A ].
Section A    Questions 26- 35 are based on this section. (15 points)
Directions: Read the following sentences and choose the best answer from A, B, C and D. Blacken the corresponding letter on the Answer Sheet.

26. My camera can be _______ to take pictures in cloudy or sunny conditions.

A. treated           B. adjusted          C. adopted          D. remedied
27. The United States is trying to ______ the serious problems created by the energy crisis. 

A. put up with        B. submit          C. comply with       D. cope with
28. I’m sure your suggestion will ______ the problem.
A. contribute to solving      B. be contributed to solve  
C. contribute to solve        D. be contributed to solving
29. His answer was so confused that I could hardly make any _____of it at all.
A. explanation         B. meaning        C. sense          D. interpretation
30. The prisoner has been _______ of many privileges that average citizens enjoy. 

A. ensured          B. informed        C. deprived       D. convinced

31. I am ______ of his story because I know he sometimes tells lie. 

A. believable         B. trustful         C. suspicious      D. questionable 
32. Evidence came up _____ specific sounds are recognized by babies as young as six months old.
A. what               B. that            C. which           D. whose
33. You will see this product ______ wherever you go. 

A. to be advertised       B. advertised       C. advertise        D. advertising 

34. To be frank, I’d rather you ________ in the case. 

A. will not be involved               B. not involved

C. not to be involved                 D. were not involved

35. There is no point _____ the job as you are not properly qualified. 

 A. to apply for                      B. in applying for      

C. by applying for                   D. having applied for

Section B     Questions 36 - 45 are based on this section. (15 points)
Directions: Read the following passage and fill in each blank by choosing the best answer from A, B, C and D. Blacken the corresponding letter on the Answer Sheet.
The United States is well known for its network of major highways designed to help a driver get from one place to another in the shortest possible time.   36   these wide modern roads are generally smooth and well maintained, with few sharp curves and many straight   37 , a direct route is not always the most   38   one. Large highways often pass by scenic areas and interesting small towns. Furthermore, these highways generally   39   large urban centre which means that they become crowded with heavy traffic during rush hours,   40   the “fast, direct” way becomes a very slow route. 

However there is   41   always another route to take if you are not in a hurry. Not far from the   42   new “superhighways”, there are often older, less heavily traveled roads which go through the countryside. Some of these are good two lane roads; others are uneven roads   43    through the country. These secondary routes may go up steep slopes, along high   44  , or down frightening hillsides to towns lying in deep valleys. Through these less direct routes, longer and slower, they generally go to places   45   the air is clean and the scenery is beautiful, and the driver may have a chance to get a fresh, clean view of the world. 

	36.
	A. Although
	B. Therefore
	C. As
	D. Because 

	37.
	A. sectors
	B. separations
	C. selections
	D. sections

	38.
	A. possible

	B. profitable
	C. enjoyable
	D. beneficial 

	39.
	A. collect

	B. connect
	C. communicate
	D. lead

	40.
	A. when
	B. that
	C. with
	D. for

	41.
	A. still
	B. quite
	C. almost
	D. yet

	42.
	A. relatively

	B. respectively
	C. reasonably
	D. regularly

	43.
	A. traveling
	B. crossing
	C. linking

	D. curving

	44. 
	A. roads
	B. cliffs
	C. rocks
	D. paths

	45.
	A. that
	B. when
	C. there

	D. where


Part Ⅲ: Writing             (20 points)                                  

Instructions:

· This part will take 30 minutes.
· Your essay should be no less than 150 words.
Write your essay on the Answer Sheet. 
Write an essay on the topic “Fast Food and Traditional Chinese Cuisine”. You should base your essay on the outline below:

1. 西式快餐在中国的流行。

2. 你更喜欢西式快餐还是传统的中餐，原因是什么。

3. 对全文作一小结。
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Part Ⅰ: Reading Comprehension  (50 points, 60 minutes)
Section A  
1-5  CBDAD
Section B  
6-10  BADCD

Section C
11-15  DEACB 
Section D

16-20  ABBCD 

Section E

21-25  DCDBA
Part Ⅱ: Vocabulary and Structure (30 points, 30 minutes)
Section A
26-30   BDACC       31-35  CBBDB 

Section B

36-40    ADCBA       41-45  CABBD

Part Ⅲ: Writing (20 points, 30 minutes)
作文满分为20分，分为内容（满分6分）、语言（满分12分）和书写（满分2分）三部分打分，三部分分值相加的分数即为作文的总分。各部分评分标准如下：

	项  目
	分  数
	标                                                准

	内

容
	6
	文章切题，内容充实，有独到之处；篇幅适当；结构安排十分合理

	
	5
	文章切题，内容适合；篇幅适当；结构合理

	
	4
	基本切题，但内容有待充实；篇幅适当；结构需适当调整

	
	3
	大致切题，但欠缺关键内容；篇幅不够；结构需进行较大调整

	
	0~2
	没有切题，包含大量无关内容，篇幅不够，结构松散

	语

言
	11~12
	行文流畅，语言得体；句子结构有变化，用词丰富；无语法错误

	
	9~10
	语言自然得体；准确地使用常用语法结构；语法和选词基本无错误

	
	7~8
	语言基本得当；有少量语法错误、选词错误，或拼写错误，不致引起阅读困难

	
	5~6
	语言有不当之处；关键内容表达上无严重语法错误，其它语法和词汇错误不致引起阅读困难

	
	3~4
	语言错误多，导致对关键内容的阅读理解困难或误解

	
	0~2
	语言错误过多，无法阅读理解

	书

写
	2
	书写工整，能清晰认读

	
	1
	书写有不工整之处，造成认读困难

	
	0
	书写不工整，全篇认读困难


